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A deck of cards is shuffled. What is the
chance that the top card is the king of
spades or the bottom card is the king of
spades
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@none of the above v(e®)”



Two ways:
1. The two are mutually exclusive events so their intersection is 0 so while taking the union, the individual
probabilities add up which is 1/62+1/52 or 1/26 which isn't among the options

2. By the complement rule, the probability is 1 - (51/52)*(50/51) which is 1 - 50/52 which again gives 1/26 which
d isn't among the options
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- Suppose A and B are two events with

P(A)=0.8 and P(AUB) =0.8. |=\B=6
C J e®)TO

Is it possible for A and B to be both mu-
tually exclusive and independent”?

(B)yes B=¢ T P(:\\/

b no L (ﬂ%} =

c there isn'’t enough mformatlon to decide
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Suppose you draw a number from a bag, with equal probabilities across the
choices {1, 2, 3}. excru
Once you draw a number, you toss a coin until you jget“that many number
of heads followed by a tails-—so if you draw a 3, you/keep tossing until you
encounter the sequence {Heads, Heads, Heads, Tails}.

. What is the probability of tossing a coin seven times given that you draw

the number 27 &OVIL wSe.
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